Welcome to JIWAN JYOTI HELPING GROUP



A platform that brings together knowledge and support, where people can help each other and share knowledge.In which areas will this platform provide help, such as education, health, employment etc

Visit Us: www.jjhg.com



TYPES OF BONUS

- **OI REFERRAL BONUS**
- **02** GLOBAL BONUS
- **03 UPGRADE BONUS**
- GLOBAL UPGRADATION
 BONUS
- 05 REWARD



ONLINE DIGITAL LEARNING

15BP 21500

Bonus Point Distribution

Sl. No.	Global Bonus 10 BP	Bonus Point
01	2 x 0.5	1
02	4 x 0.5	2
03	8 x 1	8
04	16 x 1	16
05	32 x 1	32

Direct Referral Bonus 2.5 BP

Reward Bonus Fund 2.5 BP

06	64 x 1	64
07	128 x 1	128
08	256 x 2	512
09	512 x 2	1024



5 to 9 Level Withdrawal 2 Direct 9 Cycle 10% Deduct JJHG



SKILLS UPGRADE



Direct Upgradation Bonus 5 BP

Reward Fund 5 BP



Sl. No.	Global Upgradation Bonus 15 BP	Bonus Point
01	2 x 0.5	1
02	4 x 0.5	2
03	8 x 0.5	4
04	16 x 0.5	8
05	32 x 1	32

06	64 x 1	64
07	128 x 2	256
08	256 x 3	768
09	512 x 6	3072



Helping Group

9 Cycle 10% Deduct JJHG

MANAGER UPGRADE



50BP ₹5000

Direct Upgradation Bonus 10 BP

Reward Fund 10 BP

Bonus Point Distribution

Sl. No.	Global Upgradation Bonus 25 BP	Bonus Point
01	2 x 1	2
02	4 x 1	4
03	8 x 1	8
04	16 x 1	16
05	32 x 2	64

06	64 x 2	128
07	128 x 3	384
80	256 x 4	1024
09	512 x 10	5120



GOLD UPGRADE



75BP ₹7500

Direct Upgradation Bonus 10 BP

Reward Fund 10 BP

Bonus Point Distribution

Sl. No.	Global Upgradation Bonus 50 BP	Bonus Point
01	2 x 2	4
02	4 x 2	8
03	8 x 2	16
04	16 x 2	32
05	32 x 4	128

06	64 x 4	256
07	128 x 6	768
08	256 x 8	2048
09	512 x 20	10240

9 Cycle 10% Deduct JJHG

DIAMOND UPGRADE



Direct Upgradation Bonus 10 BP

Reward Fund 10 BP

Bonus	Point	Distrik	ution
DUITUS	PUILL	DISHIL	JULIOLI

SI. No.	Global Upgradation Bonus 75 BP	Bonus Point
01	2 x 3	6
02	4 x 3	12
03	8 x 3	24
04	16 x 3	48
05	32 x 6	192

06	64 x 6	384
07	128 x 9	1152
08	256 x 12	3072
09	512 x 30	15360



9 Cycle 10% Deduct JJHG

TERMS & CONDITIONS





- Minimum withdrawal limit is 10.BP & Maximum limit is 1000 BP
- Payout will be in USDT (BEP20)
- 10% withdrawal Charges will be deducted
- After Completing 9Cycle any Bonus will get Auto re-entry to same Rank after deducting

2 REFERRAL COMPLETE

7 TERMS AND CONDITIONS JIWAN JYOTI HELPING GROUP



Call Us: +91 000 0000 000 | Visit Us: www.jjhg.com